SRBEEEILhL > F—

B 4H25H 4826H 4827H 4828H 4H29H
= [ON) (oK) (K) (&) (1)
F=RCAHND ROEZZZ ) E—< Y OARESH > [CEBAT IR BWXITH>DH
FS> 08K 7)) —S—R-aVRFF ABYAIDZX—THRK RS RLLTovFra-#iTr
4 SHERL S 3 Jd—-LZ2O-%54 h")777—8HhHMRIZ BREROPERK <TAhy kg —
B FTELT %5t %5t YRR LRI A—7
%5t
; kcal/ = AlE < Eg/BEE g/ R7KAEYI9/ 53y kcal/ = Al < Eg/BEE g/ RIK1EYI9/ 18539 kcal/t= AlE < BEg/ BB/ IRAKALY/ 1B 539 kcal/ = AlE < BEg/BEE Y/ R/ B 539 kcal/ = AlE < Eg/BEE g/ R7KAEYI9/ 53y
@ 286Kcal/9.9g/15.99/26.19/2.6g 336Kcal/12.4q/21.39/24.99/2.4g 163Kcal/12.89/6.39/15.69/2.1g 235Kcal/15.19/13.0g/14.1g/2.5g 218Kcal/10.19/6.8q/26.89/2.6g
: TS
& é&ﬁf |
—
B 4830H 581H 582H 583H 584H
=] (=) a2 (X) (%) (K)
2> RYUBRDT7ILIYE W XEORY R/ 1T TR +aRK ANILETEES
FAULINES BOBTRER A7 CERROKY BALFX> LAt E EIRADRL K
5 TAZVWEEPLOTLIL IROh=—h<fx NFSH 74 LH 9 FHmR F7UROFE) EERZ
B ¥t LT FELT FRYOIERZ FELUT
€5t
; kcal/ Tz AIE < Eg/BEEE g/ R7KAEYI9/ 1539 kcal/T=AlX < Eg/BEEy/ k7K1 ¥Ig/ 1B 53 kcal/T= AL < Eg/ B g/ RKIEYI9/ 1R 539 kcal/ = AlE < Bg/ BEE g/ RAKAEI9/ 53 kcal/T= Al < Eg/ i8E g/ R7KIEYIg/ 1B 539
@ 271Kcal/10.89/14.89/25.6g/3.0g 250Kcal/19.0g/11.69/17.5g/3.2g 206Kcal/12.49/11.6g/13.49/2.2g 233Kcal/11.59/9.99/24.59/1.6g 215Kcal/19.69/8.79/14.19/2.2g

XBEKORBMAMIZTENTEYELA




